EARAROBEEIERT — 2 N— IBISH —F

2016558290 (H) 5EI£IR3H

mﬁﬁzkiﬂ%?ﬁ%@?ﬁﬁ B23 5% (xwlw | lmEmml - |5 @) w8
[AE4£] 1% :230,000” ~ 27%&:46,000”  33%&:20,000H” . 43%&:16,000 53 :9,000
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
ilsl5| 71N ETL 22 #H 5 ?gﬁ% 1:(45)).5 8-8-7-5 |40.3| — 7 452 @E?éé (&R)
LA N=3I2FR—L BARFTLEYIL (1) # E85
S = e o7 | REF 1:40.7 10-10-10-4 | 39.8 | — 8 454 | HARR (£R)
28|11 V7 A X v 2NX 540 M 4o | B 77— rEvar
L:Tw TRy N BT ECT i EE
oS 8 = 4 4 | BEEILE 1:41.1 2-2-2-1 | 42.1| — 1 462 | HARR (£R)
3 6 IANRT T a1— 54.0 (2) (+3) (#%) 77— bEYI3 >
L:ZATATvy— B:70LT7v TR ERT7—L
4 o4 | HREBRE 1:41.2 8-9-9-10 |40.8| — 10 444 | BIERZ (£R)
4 4 1FFX> EE.O (1/2) (+6) FHEIE ’
R:xIAMO— BTy RT—F 1 J—RH—=F>
N N EHRE 41, 32— . — 1ERER (&R
5 IRIZIE S 1Y) 4G 1(34/14>3 MRS ’ :516) 3 Y
L:¥riAnq4o— B:Fabyvany Fy o amEEMRASH T adk
3 4t 7 | BEBAR 1:41.4 7-7-8-6 | 41.2| — 4 458 | £H—8 (£R)
61111 AH /24 ML 56.0 (172) (-2) BERXE
L:Nd BiAqA8290 ML HHE EX
N e hiul2E : 45— — &% (2R
1 : FIERANACS A AR eyt AR ° ig? WikE
L:h714=29 B:Ly R4 Rl LK
" o hBEEH 142, ~5-4— . - SEEF (2R)
gl7lg| ¥Y¥»vavoy O g | T 20 S e - S
R:v¥/ by THY B:5TI-Z)— [alEspaed
R MAHIES] 142, —6-6- . — EiEtRe (£R)
9l7l8 T4 N T # 6 56.0 1(432)8 6-6-6-9 42.8 9 (4_410) ?’%H’:—EK
L:hIHATA4A4— B:4—-0O0F7/)03 gilll &Rl
; N it 4 | EHBTE 1:43.7 1-1-1-3 | 46.1| — 5 457 | DNEEFIR (£iR)
10[8[10| Y¥L¥ v 3 54.0 @ o |BEEE
L:xriyd/xex B:O2 5N elike
S . = — - — — — — | =BREF (2R
7| T —TrUH # oo | BY (B8 (=) R
77—k B —U—LA KR~ =R
® I —F—@EBIERL
13—+— |10,6,2,3,9,8,1,(4,5),11
20—F— 10,6,2,3,9,8,1,5,4,11
da=3r= 10, (2,6),9,3,8,5,1,4,11
43—F— 6,2,10,11,5,(1,3,9) ,8,4
[ N3
B OB 5 1,670M 714K 5-11 2,420 % E 5-8 2,970H 3EHE 5-6-11 6,930
8 B 5 2104 5-6 970 B 5-8 3,300 K31 5-11-6 51,500/
1 1704 6-11 1,030M B E 5-11 10,780M
6 130M4 B H 5-11 9,560

ABICOVWTRDTEEERROODE. TR LIV,




